Grade:

Worksheet #1

( PROFIT AND LOSS

)

Learning goal: Students will be able to define, identify, and
differentiate between Cost Price (C.P.) and Selling Price (S.P.),
and calculate profit or loss using real-world examples.

Instructions: Carefully read each problem, identify the Cost Price (C.P.)
and Selling Price (S.P.

Q. No.

WORD PROBLEM

COST PRICE
(C.P)

SELLING PRICE
(S.P)

A shopkeeper bought a watch for 1,200 and
sold it for ¥1,500.

1,200

1,500

A trader purchased a bicycle for 2,500 and
sold it at a loss for ¥2,200.

¥2,500

¥2,200

A fruit seller bought apples at 80 per kg
and sold them for ¥100 per kg.

T80 per kg

100 per kg

A retailer bought a shirt for 400 and sold it
at a profit for ¥480.

%400

T480

A vendor purchased 10 pens for 200 and
sold each pen for ¥25.

T20 per pen

¥25 per pen

A shopkeeper bought a pair of shoes for
¥800 and sold it for ¥720.

¥800

%720

A farmer sold 50 kg of potatoes for ¥1,500.
The cost price was ¥1,200.

1,200

1,500

A dealer bought a car for ¥5,00,000 and
sold it for ¥5,50,000.

¥5,00,000

¥5,50,000

A bookseller bought a novel for 150 and
sold it for ¥180.

%150

%180

A grocer bought 5 kg of sugar for 200 and
sold it for ¥250.

T200

250




Grade:

Worksheet #1(Answer)

( PROFIT AND LOSS

)

Learning goal: Students will be able to define, identify, and
differentiate between Cost Price (C.P.) and Selling Price (S.P.),
and calculate profit or loss using real-world examples.

Instructions: Carefully read each problem, identify the Cost Price (C.P.)
and Selling Price (S.P.

Q. No.

WORD PROBLEM

COST PRICE
(C.P)

SELLING PRICE
(S.P)

A shopkeeper bought a watch for 1,200 and
sold it for ¥1,500.

1,200

1,500

A trader purchased a bicycle for 2,500 and
sold it at a loss for ¥2,200.

¥2,500

¥2,200

A fruit seller bought apples at 80 per kg
and sold them for ¥100 per kg.

T80 per kg

100 per kg

A retailer bought a shirt for 400 and sold it
at a profit for ¥480.

%400

T480

A vendor purchased 10 pens for 200 and
sold each pen for ¥25.

T20 per pen

¥25 per pen

A shopkeeper bought a pair of shoes for
¥800 and sold it for ¥720.

¥800

%720

A farmer sold 50 kg of potatoes for ¥1,500.
The cost price was ¥1,200.

1,200

1,500

A dealer bought a car for ¥5,00,000 and
sold it for ¥5,50,000.

¥5,00,000

¥5,50,000

A bookseller bought a novel for 150 and
sold it for ¥180.

%150

%180

A grocer bought 5 kg of sugar for 200 and
sold it for ¥250.

T200

250




